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	I can solve problems involving the volume of a cylinder
	
	

	
	I can solve problems involving the volume of a sphere
	
	

	
	I can find the volume of a pyramid
	
	

	
	I can find the volume of a cone
	
	

	
	I can find the volume of the frustum of a truncated cone
	
	

	I need to practise …. 


Grade B: 1 to 3 marks
Grade A: 4 to 18 marks
Grade A*: 19 to 23 marks

Name:


3D SHAPE: Grade A





Key descriptor: Calculate the volumes of cylinders, cones and spheres





Score: __________/23		Grade:______
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1.	The volume of a cylinder is 400cm3.  When stood on its circular base, the cylinder is 10cm tall.  Find the radius of the cylinder.








____________cm





2.	A basketball has a diameter of 9.4 inches.  What volume of space does the basketball occupy?








____________





3.	The Great Pyramid of Khufu stands 481 feet high.  Its base measures about 750 feet by 750 feet.  What is the volume of the pyramid?








____________


4.	In the cone here, h = 12cm, r = 5cm and s = 13cm.  


� INCLUDEPICTURE "http://mathworld.wolfram.com/images/eps-gif/ConeDimensions_1000.gif" \* MERGEFORMATINET ���


a)	Put a ring around the calculation that will find the volume of the cone





� EMBED Equation.3  ����
� EMBED Equation.3  ����
� EMBED Equation.3  ����
�



b)	What is the volume of this cone?


____________cm3





5.	The height of this frustum is 20cm.  If R1 is 30cm and R2 is 15cm, find the volume of the frustum.  Show working on the reverse of this page.





�


____________cm3





6.	The diameter of a table-tennis ball is 40mm.  How many of these balls occupy the same space as the basketball in question 2?


(HINT: While there are many ways of solving this, a good idea is to convert 40mm into inches first – you can use 25mm ≈ 1 inch for this) 











____________





Grade B


3 marks














Grade A


3+1 marks














Grade A


3+1 marks











Grade A


2 marks


















































Grade A*


5 marks


























Grade A


5 marks




















Total = 





_____/23





Low                High


 O   O   O   O	





Overall, for this homework I think my success level is: 





Overall, for this homework I think my success level is: 





Low                 High


 O     O     O     O	
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